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General Instructions

Centre Number

Student Number

2008

TRIAL HIGHER SCHOOL CERTIFICATE

EXAMINATION

tic:

Total marks — 100

e Reading time — 5 minutes E Pages 2-10
o  Working time — 2% hours
. . 22 marks
o  Write using blue or black pen e Attempt Restions 1-22
e (Calculators may be used e  Allowabout 30.minutes for this section
e Use Multiple Choice Answer .
Sheet provided Section II | Pages 11-20
o A separate Formula Sheet is 78 marks
provided e  Attempt Questions 23=28
o  Write your Centre Number and e Allow about 2 hours for this section
Student Number at the top of this
page
Disclaimer

Every effort has been made to prepare these “Trial® Higher School Certificate Examinations in accordance with the Board of Studies documents,
Principles for Setting HSC Examinations in a Standards-Referenced Framework (BOS Bulletin, Vol 8, No 9, Nov/Dec 1999), and Principles for
Developing Marking Guidelines Examinations in a Standards Referenced Framework {(BOS Bulletin, Vol 9, No 3, May 2000). No guarantee or
warranty is made or implied that the “Trial’ Examination papers mirror in cvery respect the actual HSC Examination question paper in any or all
courses to be examined. These papers do not constitute ‘advice’ nor can they be construed as authoritative interpretations of Board of Studies
intentions. The CSSA accepts no fiability for any reliance, use or purpose related to these ‘Trial” question papers. Advice on HSC examination issues is

only to be obtained from the NSW Board of Studies.
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4 The McAlister Pastoral Company records the amount of rain in their rain gauge each
morning. Which of the following terms describes the type of data collected?

{A) Categorical
(B) Continuous
(Cy Discrete

(D) Stratified

Front
View

The diagram above shows the 3-difmensional tepresentation of a solid figure on an isometric
grid, and the 2-dimensional view of/ the front of the solid. Which of the following gives
correct 2-dimensional views of the top and the left of the solid?

(A) (B)
Top Left Top Left
View View View View
() D)
Top Left Top Left
View View View View



%c8 ()
%5S (D)
%Sty (9)

%81 (V)

{UISYT SIY) w0 JunoosIp oeiusarad o1y S1IBYM
"6TES 10J p1os 3t sa[es ATgnuel o) SuLing “665$ JO 201Id PONIBWL B SBY DAL PIBY [BLIAIXS Uy

09 (@
0s )
8T (&)

9 (V)

(943-8[Inq 941 114,01 102dX2 91 PINOM 3SAY) JO AUBW MO ‘SMOLIE
00¢ Sunjooys uo Furuueld s 2y ABPo], $10Us XIS £1943 JO JN0 SUO UI 3K3-S[[Nq © SYIY IJOTIE Uy

L'S X% X7 X 09% (@
01¢
g xux 28 ()
¢ 01¢
L'8 XU XT X 0% ()
0S
L8 X U'X 09% v)
z 0S
n..mEmaou

Uo1ya dIe IR[NOLO dY) JO YITUS] oY) $AAIS suoissardxe Suimoljo] oyl JONGOIGM ~S[010 AU
WOJJ INO U33q Se] (¢ 2[SUR JO J010IS Y WD /'g SNIPEI JO [OIID B SMOUS dA0qe eIdeip oy,




9

10

11

Marina visited France on her holiday. She paid 240 euros for a pair of shoes. This price
included a value added tax (VAT) of 20%. When she left France she received a refund of the
VAT. What was Marina's refund?

(A) 40 euros

(B) 48 euros

(C). 192euros

(D) 200 euros

Emma has compleiéd four assessment tasks, each marked out of 100, giving her a mean of

71%. She wants to increase her mean to 75% after her next assessment task. Which of the
following will calculate the mark (x) she needs to achieve in her next assessment task?

Ay R TIHTS
2
71+ x
BY ——=175
(B) >
©) ﬂx&+xﬁqm
2
71
(D) i;wmeanm

Jeremiah has 6500 shares with a current market value of $2.95 per share. Jeremiah has
received a total dividend of $1093.30. What is the dividend yield on these shares?

(A) 0.057%
(B) 0.27%
(C) 5.7%

(D) 27%



A000 ST (Q)
JASLLEL (D)
A009 21 (9)

MLy 1T (V)

(p1ay Sutked a1 JO vaIe 91q1ss0d WNIIIXEBW Y ST JRUAL "SIIIOW ()] 1SOTBOU o)
01 1931109 USAIS aJe SIFU] oy 'pIoty Juike(d € JO SUOISUIUIP SYI SMOYUS SAOQR WeIdeIp 9],

W ol

w06

o |

0r'8s6 €198 (@)
0v'8¢6 £9¢$ (D)
07°€91 158 ()

P S0L1S (V)

,8T89A O ¢ 10A0 Avd ysSnuep]
PO jsa1our yonw Mo e'd 94677/ 18 sIeak ¢ jo poltad B I19A0 000 (OSTS SMOII0q YSTWEH

62 108 7' vedls £SLOVIS €9'0011% %008
YT 6vI1CS €0 16L1S 78°TEVIS T9vLOTS YSLL
9°L60TE O 8tL1S £7'86£1$ 7887018 %06°L
£6°9%0TS PP S0LTS CEPILTS 97'¢T01S %%ST L
16'6661% 97°'£991§ 09°0£€1$ C6'L66S %00°L
6L'SP61S 05 1291% 0T°L6T1S 06°'TL6S %SL'9
000 00¢$ 000 05T$ 000 00C$ 000 0518 poued 1od
JUnowe Ugo| Sjerisaleiu]

ugoy 183k (¢ & o spwleday AIuogy

"JSOIDJUT JO SIIBI JUBIDLIIP
T S1BOA ()¢ I0AO SJUNOLE SUOLIBA JO SURO[ 10} sjusiedar Ajqiuow smoys 9[qe; Suimof[oy oYL 71



14 Which of the following could be the graph of y =3 —2x?

(A) (B)
AY AY

A
AR
=Y
A
|
N
=Y

(®) @)

A

15 John observes that the number of messages (M) that he receives on his Myspace page each
day is directly proportional to the square of the number of friends (»7) he has on that day.
Yesterday he had 10 friends and received 40 messages. How many messages would he
receive if he had 45 friends?

(A) 13
(B) 85
(C) 180

(D) 810
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18

19

20

21

On a TV game show there are five contestants. Two are to be chosen at random. The first
contestant chosen will win a car. The other will win a years supply of toothpaste. In how
many ways can the two winners be chosen?

(A) 10

(B) 20

(C). 25

(D) 40

Rebecca needs $600 per month for 5 years while she studies at university. What amount of
money do her parents need to invest now at 7.5% p.a., compounding monthly to provide the
morney that Rebecta needs?

(A) $2427.53

(B) $3485.03

(C) $29943.18

(D) $43 516.26

@ 1s an obtuse angle and sin &= 0.8183. What is the size of &, correct to the nearest degree?
(A) 55°

(B) 125°

(C) 145°

(D) 235°

Hockey and tennis are the only sports offered at a local high schoel. 65% of students play
tennis and 18% play hockey and tennis. 15% of students . do not‘play any sport. A student is
selected at random. What is the probability that the student does not play hockey?

(A) 15%

(B) 38%

(C) 47%

(D) 62%
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